F "pONUT OPEN THI® ©_— ““ YOU ARE TOLD 1V DU SQ.

L 2 !
jCODE : NJL-2 - 19 _919 |
ISUB 1 /
| GENERAL STUDIES

Time : 2 Hours Max. Marks : 200

e jn numbers

!
|
l
| write your Roll Number e > EII ‘ |
" the box In igphas t/x\ |
I in :
]
|

int Pen on]
To mark Answer use Black Ball-poin y.

5 ions befor .
Candidate must read all the instruct® € Writing the

swer-She |
l You are to mark your answer on éﬁator el only. After the examination is over, handover the
_original Answer-Sheet to the InV!

answers.

1. Answer all questions. All questions CarTy equal marks.

I 2. The Candidate should indicate the correct Roll Nump,

: er, Subject, Paper Code and 1its S;riCs on the I
Answer-Sheet, otherwise the Answer-Sheet will not be evaluated and the candidate will be solely
responsible for it.

,"‘3. This Test Booklet contains 100 questions. Each question has four (4) options which are given
| below the questions. Only one option 1s correct out of four. You are required to darken the circle |

I : : : :
' corresponding to the alternative which you consider to be the correct or most appropriate answer
] in the Answer-Sheet by Black Ball-point Pen.

4. Do not write anything on the cover page of the Test Booklet except Roll Number. Use the space
for rough work given in the last two pages of Test Booklet.

|

|

5. If you happen to find that the Booklet issued to you does not have all the pages properly printed or I
|

:i
3
)

it has any other deficiency, then you need to approach the Invigilator to get another Booklet of same
Series and Code.

6. In this question booklet questions are printed in both English and Hindi languages. In case of any
ambiguity in the question the English R ersion of the question shall Prevail.

I
7. Penalty for wrong answers

I

I

i

|

| THERE WILL BE PENALT RONG ANSWERS MARKED BY A CANDIDATE |
I INTHE ANSWER SHERT. ¥ FOR 7 o

1

i

I

!

i T _ y question. F 1 question g
(i) There are four alternatives for the gfswel' ‘;0 §¥I.9lr¥.’f|of the mar?(gmh wrong |
(ii) If a candidate giy '

: €S More than one aNS
of the given answer o be
question. s happens to be
(ii1) If a question is left b, :
: (]UGSlin'l. dnk’ l'c-.}“
DO NOT OPEN T .

answer has been A
deducted as penal%i.ven by the can

Scanned by CamScanner



Y Wy, | 19
e TR e R (O a2
. 2 [+ ¢ ” .H.l THSET] = “ua * §ﬁ m— '... 1l—-h
5 i [ LS8 T3 i = o ....| ol 3 .

~ Scanned by CamScanner

55 zﬂ:?.:l_dy » ?ﬂﬂrg—“..h 3y e wy | _ilgﬂigﬂ-
ﬂdﬁg’ S J..m_‘._.,ﬂ_?? . 9. ‘wen' T PAR L LR AC TR W g S .‘_.ﬂ...«.uv
gﬂﬂ.—%ﬁﬂ.— (a) L
bl ] ) s .
ELe fnﬁﬁm*&uﬂ??nﬁ & ?ﬂ:ﬂﬂgg?ﬂ_%ﬁ%? . (b) wEH
‘1__‘*%%%% ¢ AR G_ﬁ,_@?: ﬂ (¢) EH
s e v o & o © ey | o Tk .
e s R § v et @ A 8 R TR A st _ 04 4
: 4 Sy : ™ w : freg vt % - s 7 ¥
* ,mnd&dﬂzmﬁmﬂwuu?aﬁﬂi (d) T A 10, ‘smoim’ @ fems e y ia e =
| %w?i?in;ﬁuﬁmﬁ e a () e ) 3 =
-w%ﬂmwgﬂiﬁaaﬁﬁﬂm.ﬂn@ﬂm > .ﬂ.@ﬂﬂﬂ.@ﬂ:ﬂu (by 3L b 50 vl
».&aﬂﬂﬁam&imﬂﬂ.aﬂﬁﬁﬁgﬂnﬂ%ﬂ () o P il
#) weftfd F1 &1 TE T ® i anfers o T SEN 0 ah-a — RO =
amﬂ%q@.smu&w_gaﬁdﬁgmnma b& A i (d) » i
%2%&&.%&3@3?%3» © 3w 11 ot e R A gy ¢ (7. ‘Tt wadd R
o AT B 9T &, T 0 e st A G (d) stz (o) TR (3) T F T orh o e T 8L
w_m:«:mﬁﬂuﬂa.«.nmﬂm@&mﬁm&g&ﬂ-ﬂﬂm 6 e e o) AT &) w2 w2 5 e o s T B
1 Fmfor 3¢ g : w_uﬂmx@dﬂﬁwqﬁg&ummﬂn&ﬁﬂﬂwﬂﬁmﬁ (c) sradh (c) #H T == o T ¥
, d) Bfgeh F 7 55 w1 TR W IR
I 6 ST 1 He IO S 6w ¢ (a) & Pre A i g w..,.‘ﬁ.w. E : . g
(a) e 3T Frran (© @ ) = 123 mﬁ??amm&wanw@%re ] LEs _?K?u&ﬁ.uﬂﬂugw !
%&ﬁ%ﬁsﬁn () uﬂ&m&%ﬁﬁ@%« @ Ml@dnuw_a ]
(o) s SR 7. f=fafea 3 & o aw sifeu, fwi G fmm (b) I A EEAL ..w 4 ,. sl |
Gy ImEr S e o1 T foRan T 2 ) mﬁsﬂﬂnﬂasﬂgﬂmﬂﬁ_ __,_, o) FT=w= s .
2 qﬁaﬁ?ﬁ»@&wﬁwﬂiu&&ﬁ, e R _ oy AR ﬂﬂ%ﬂ.f k. i aiebe bidaae
Skl 19 ‘¥ vmw el
(o T S 1 2o A 3 g R
(b) e i1 o = ) yfivrms qmen B R
J s (c) ¥=m
) =

(c) TR ) TFR A Ao A Ay | B
(d) g%%ﬁms&ﬂ%ﬁﬂawﬁ -

0. fEw IRR-mEE?

3. TR # 39 2 | . 3 e @ Ry asll
ﬁ?b X0) TH i e

(¢) HHRTHHA
() 39 % & 7 7



l-..'..
: k h:olh‘o fiven $entgp,,
ok, 1o M

IS twenty
b) doxn e fyy,

WMQ of““ ) back
) ol the folig
& W
5 Ch."gﬁ‘lhgyr ) Awfu{
;‘%lllee?" Ollowing senience into 4 simp|,
g) ﬁeﬁ?‘lﬁon isubaduitcould iy
The jnepi e is thoroughly pyy
gc 'mevr"’““"‘ i8 50 bad We cannoq
d) The pistitute is too bag {0 sy i

0. Choy t:hltnmle is notonly g bn{:l';ommg'

,(al); e rs Correct Meaning of (e Phrns.e
> 120 clock at night.
© e liotl:: When an opera(ion begins.

in so much is to be b2
for the most part they omit it; as if chance were FIltCt
registered than observation; let diaries, thereore
be brought in use. The things to be seen and 0

. < ive it t
rts of princes, e. lly when they g1V (d) when the sun riss.
:fmel:,::ecr‘:)unmbasspndom: lh:psg:::u) of justice, while 3l Con-eThe hour when the sun sets,
they sit and hear causes. - Both 1s lnh:‘izllllowin.g expression,
21. Who tells about the things to be seen in the (a) 28 his son were presen.

Oth, he and his son, was
Both of them he and
© Bothne

Oth he and his son were r
(d) Both he and his son hae bfeﬁs;?e‘;em,

Find out the correct indirect narrag
following direct speech. s o
John looked at the Taj and said “How
magnificent!”
(@) John looked at the Taj and told that how
magnificent it is.
John looked at the Taj and exclaimed with
surprise that it was very magnificent,
(c) John looked at the Taj and asked that how

country one is travelling ?
(a) young men (b) elder people
(c) tutor (d) stranger

- ?
22, Whatis NOT important for travelling in a country ?
(a) knowledge of the language of that country 32.

(b) diary
(¢) company of a person who already knows
the pl;

Tesent,
1S son were

place
(d) company of the family members
23. The grave servant accompanying the traveller
must have
(a) already visited the country of the travel
(b) acquaintance with reputed persons

o magnificent.
© undafgkgn seavoyages (d) Noﬁe of the above
e dinis Choose the correct option.

24 One should visit the courts of princes when the
princes are |

(a) dinning with ambassadors

(b) listening tc ' ambassadors

(¢) instructing the ambassadors
(d) talking to ambassadors
25. Who learns from travelling ?
(@) old persons (b) tutor ‘
(¢) young men (d) grave servant
{1. Cid

This Pen is much _____than that.

et part of speech/word clas o
rd “inte g’ in the following sentence,
This book s interesting.
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©) ad : (d) noun
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2 ¢ mortal & e I
All men ar i -
(1 anis have trunk 3 2 i
(b) Some elephan®®” by S P
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49. The context of face-to-face commu
(a) Archetypes
(b) Synchronous
(¢) Asynchronous
(d) Both synchronous and asyn
50 Given that
A is the Brother of B
Ciis the Father of A
Diis the Brother of E
E is the Daughter of B
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(c) 72°

77, o s f e PO P

(a) 15 L), 1
L% @ 16
78. Which factors influence the choice of 78, wiryu wfafir &1 = he &
communication partners 2 w7

(2) Proximity, utility, loneliness
(b) C:.:Q.m@n.dn.«..&%o:%%
(¢) Secrecy, dissonance, deception
(d) Dissimilarity, dissonance, deviance 0
79.  The length of o

(a) wfete, ST, e
(b) I, T, SF
(¢) T, @A, B

(d) Ferewa, raTtedr, fagey

@

B A \KM\%N\ e
i nE.UEn:n.owaB is 17 cm and its @nﬂ guiet Iqst F earg |7 ., wﬁmﬁuﬁ% ¥

One of jts diagonal measures

:m.&.waﬁwﬁﬂ@ﬂiﬁﬂwm.
26 cm. The length of the other diagonal is SxZ %.m._%wmi%mﬂaW A%
@ 12 )N i4'cn e AN (@) 128 (b) 14d .,
© 16cm @ 17cm W (c) 1641, (&) 178,
f i
80. Mﬂma?i&:«%&..alaa%a:%...ﬁ 80. mﬂ@@mﬂma&n@&aﬁ@w I mw«w
3,5,5,19,7,41,9, KB 355,107,419, G )
@ 6l ®) 71 ATL@ 61 g0 \ECG) 71 (-1 52
© 79 ) 69 pv D79 G @ 6 T o
81 TH HCF and LCM of two numbers are 12 ang 8L. I w@nsii #1 HOF sk L)
Snoﬁm..vo_pn:uhww._.._.wo:n of the numbers js 36, 2 | 3fe v g 368,
(@) 4 (b) 48 (&)
© 72 (d) 432 (c) 72 :
82. Which of the following decision makj 82. fiefafig 1
technique involves Tt 4 w@@ﬂ

structured rules for
generating ideas 2

(a) m_.E.ESaa:m

(b) Delphi technique

(c) Nominal group technigue
(d) Ordinal group technigue

F1 AT 33 3 o

= : _"......
b

T ot 1, 20 O i
Hﬁwﬂhﬁiﬁigég?

fam a8, o g A T g,
wnk? (b) 36"
(a)" 20° () 1440

.

S/

#

85.

86.

88.

is increased ;.
fius of a cirele

4 ymierence INCreise

that 118 Cire &

w cased |
of circle i1l be ncreased
o1 € C

(a) 10%
(c) 21

by |
(d) 242
The mental function which does

L s

solving 18

_MHW:_NN?“SQ.“ formulation
(b) Functional fixedness

c) Insight .
Mn: Means-end analysis

E55 ion 23+ x2=2x— | i8 divigih .
express .

(b) 2x 4

a) 2x+3

MM“ N“;u (d) 2x-

Vikas ranks 18" in uo_nwu of 49 studeny; Wi
is his rank from the last ?

(a) 19 (b) 31

(c) 32 (d) 33

Statement : Should school education be made

free in India ?
Arguments : . Yes, this is the only way i,
: improve the level of literacy
1. Zo.:im__&n:o.—_nn—.ﬂ.&r!q
burden on the exchequer.
Select the correct answer from the code given

below :

(a) Only argument [ is strong.

(b) Only argument II is strong.

(c) Neither argument I nor II is strong.
(d) Both argument I and II are strong.

. Semm 59 grd € s wan 3 15 8w B S0

Ratan is 40 metre South-West of Pawan. If Lskn
is 40 metre South-East of Pawan, then Lalnis
in which direction of Ratan ?

; 9
P 1 l-——.-\h\ﬂ
#1 r h ;
’ . “¥ ‘b”*\bﬂu.mﬂnﬁw
¢ -,...._.\..uﬁvu.\r..uﬁéxa.aqﬂxmﬂi\
£t nfs & w1 &
¥ 1
. q
. b - sy nﬂn._iun
T .
rrpy o) 7
gLy LETT
s tus Cogra y \,—.\
Ly ’ uT U. \ﬂ\/
o i X EE
naE 2g' + rara % - ;
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a

120°

(b) 20

(a) 10 (b)y 20
(c) (d) 30

(c) 25 (d) 30
93.  fereh FHINYI 1 AT AT TR

(a) SRAFEFTIT (b) FERE Fwq
(€) W FFIA (d) HRfEg ¥ vy 3§

oA Eﬂ@@mﬂiﬂggn

H

93.  The study of temporal communication is known ag
(a) Proxemics (b) —o.:mm_.nw.q
(c) Paralanguage (d) Chronemics .+

94. Consider the following statements : .
dnamammx&:mma}m.n.u.mﬁam. B

A,B,C,D,E @41 F&: g §
Fis 1 km to the west of D . D% |5 fem iR
Bis I km to the east of E 3 E% | 5l @i
>mmmx~:85n=onao_,m
nhuhxanozdnnmho:r
U_.m:aﬂ”o:ﬁmoﬁ:o.ﬁ.

Which three villages are in |ine ?
(@ A CB (b) A,D,E
©) C,B,F (@ E B,D
The sum of the three Prime numbe

one of them exceeds anothey ;e
one of the other number js TS

(@ 7 (b) 29
(d) 6]

(c) 43

Lot

212 @
e devised and ever, " NJL- . c
e e othar . e, e £
ME.._._ moral v::n_ le. ‘ ey LR SR R R S — bxwﬂ %ﬁ: S
It involves the fallacy o P2 e B 3t v stk el S s A B! (9p)
(1) Argumentum ad _.:_a:_.:: ¥ | H. OV FHA B B ooy Soer RGO m
(b) Argumentum ad <n§_=;x.ﬁ.‘ wardt Eifey =42 B %
() Argumentum ad Miseric,, ¥) S >
(d) Argumentum ad Ignoragj,, AT o
. ) o
Which one of the .‘c__ws_:n 15 Noy 4y BIHTTE n_nu
97. i i the subjective 2 3y o
for estimatings SAL Probyy, . =£1 c
outcomes of any decision ? N Crfafer 8 1 -1 o Gy St .ﬂ.%ﬂ—ﬂﬂ—o [4+]
(a) Assessing utility Rt areern ¥ sam S L L nn\.vu
AVV wﬂﬂwﬂmo_._%bn_fsﬂ:ﬂwm (2) TR = wrs
(c) Availability

(d) Adjustment

98. Argument

is 7..:2- 1
n —h—._—n I L
\;n Colde -

p
(b) wAEoTEEn

(c) Tx=7"

Sy

(d) e o]
All Indians are religious. L o
All Painters are religious. =5 s &
. All painters are u:n,::..m. et Ay i
It involves the fallacy of : - o o i
(a) Division wE A adam d .
(b) Existential “W Tz
Mw Undistributed middle L_» = gﬂm.ﬂﬂdﬂuﬂ

99. If in a certain code ¢
‘WZGV’, then which
would be written for {C
& XLNV

(c) VNXL

100.

Four terms =3

! What X in second figure ?
’ | 7| A
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